

۲. افین

بنام خدا  
ماهان نژاد کر

تاریخ ۱۳

۱۲ اسیر

-۱

$$g(h), f(\overbrace{h \cos n}^{h \cos n} + \sqrt{r} \cos n) \text{ و } f(h \cos n) \text{ و } f(h \cos n)$$

$$\Rightarrow g'(h) \cdot (f \circ h)'(h) = h'(h) f'(h \cos n) = (\overbrace{h \cos n + \sqrt{r} \cos n}^{h \cos n})' f'(\underbrace{h \cos n}_{h \cos n})$$

$$\rightarrow g'(\frac{\pi}{2}) = (\underbrace{h \cos n + \sqrt{r} \cos n}_{r})' f'(\underbrace{h \cos n}_{r})$$

$$\Rightarrow g'(\frac{\pi}{2}) = (r \cos n) (1 + \cos n) - \sqrt{r} \sin n = f'(r) = \sqrt{r}$$

$$\rightarrow g'(\frac{\pi}{2}) \cdot \sqrt{r} = (r \cos n - 1) f'(r) \Rightarrow f'(r) = \frac{r}{r}$$

$$f'(r) = \frac{(r + \cos n)(r + \cos n - r \cos n)}{(r - \cos n)(r + \cos n)} = \frac{r + \cos n - r \cos n}{r - \cos n}$$

-۵

$$g'(h) = \frac{r}{r - \cos n} \Rightarrow r g'(h) = \frac{r}{r - \cos n}$$

$$\Rightarrow f'(r) = r g'(h) = \frac{r + \cos n - r \cos n}{r - \cos n} = \frac{r}{r - \cos n} \cdot \frac{\cos n (\cos n - 1)}{r - \cos n}$$

$$= -\cos n \Rightarrow (f'(r) - r g'(h))' f'(r) - r g'(h) = \sin n$$

$$\Rightarrow f'(\frac{\sqrt{r}}{2}) - r g'(\frac{\sqrt{r}}{2}) = \sin \frac{\sqrt{r}}{2} = -\frac{1}{r}$$

$$f'_+(\frac{r}{2}) = \lim_{n \rightarrow \frac{r}{2}^+} \frac{|\sin n| \sqrt{r}}{n - \frac{r}{2}} = \frac{(\sin n) \sqrt{r}}{n - \frac{r}{2}} = \sqrt{\frac{r}{2}} a$$

$$f'_-(\frac{r}{2}) = \lim_{n \rightarrow \frac{r}{2}^-} \frac{|\sin n| \sqrt{r}}{n - \frac{r}{2}} = \frac{-(\sin n) \sqrt{r}}{n - \frac{r}{2}} = -\sqrt{\frac{r}{2}} a$$

$$\Rightarrow \sqrt{\frac{a}{\epsilon}} - (-\sqrt{\frac{a}{\epsilon}}) = 2\sqrt{\frac{a}{\epsilon}} \Rightarrow 2\sqrt{\frac{a}{\epsilon}} = \frac{2}{\sqrt{\epsilon}} \Rightarrow \frac{2}{\sqrt{\epsilon}} = \frac{2}{\sqrt{\epsilon}}$$

$$\Rightarrow a = \frac{\epsilon + \frac{2}{\sqrt{\epsilon}}}{\frac{2}{\sqrt{\epsilon}}} = \frac{1}{2} \quad \text{✓} \quad \text{②}$$

$$y = ax + \frac{1}{2} \quad \text{---} \quad \epsilon$$

$$\begin{matrix} \xrightarrow{f(x) = a} & f'(x) = a \end{matrix}$$

$$f(x) + f'(x) = \epsilon + \frac{1}{2} = a + \frac{1}{2} \Rightarrow a = \frac{1}{2} \Rightarrow f(x) = a + \frac{1}{2}$$

$$\forall y = \frac{1}{2} \Rightarrow y = \frac{1}{2} + \frac{1}{2} = 1 \quad \text{---} \quad \delta$$

چون منحنی های مذکور، پس به هم نزدیک است، بنابراین ضایعات (Δs) ظاهر

$$\frac{an-1}{n+1} = \frac{1}{2}n + \frac{1}{2} \Rightarrow \frac{1}{2}n^2 + \frac{1}{2}n + \frac{1}{2} = an-1$$

$$\Rightarrow \frac{1}{2}n^2 + (\frac{1}{2} - a)n + \frac{1}{2} = 0 \Rightarrow \frac{1}{2}n^2 + (1 - 2a)n + 1 = 0$$

$$\Rightarrow \Delta s = 0 \Rightarrow (1 - 2a)^2 - 4(1)(1) = 0 \Rightarrow (1 - 2a)^2 = 4 \Rightarrow 1 - 2a = \pm 2 \Rightarrow a = \frac{1}{2} \text{ or } a = -\frac{1}{2}$$

$$\Rightarrow 1 - 2a = 2 \Rightarrow a = -\frac{1}{2} \Rightarrow \frac{1}{2}n^2 + (1 - 2(-\frac{1}{2}))n + 1 = 0 \Rightarrow \frac{1}{2}n^2 + 2n + 1 = 0 \Rightarrow n = -1 \text{ or } n = -4$$

$$\Rightarrow 1 - 2a = -2 \Rightarrow a = \frac{3}{2} \Rightarrow \frac{1}{2}n^2 + (1 - 2(\frac{3}{2}))n + 1 = 0 \Rightarrow \frac{1}{2}n^2 - 2n + 1 = 0 \Rightarrow n = 1 \text{ or } n = 2$$

$$\Rightarrow a = \frac{1}{2} \quad \text{---} \quad \text{نکات}$$

$$\textcircled{1} f(x) = \frac{1}{2}x^2 \quad f'(x) = x \quad \text{---} \quad \text{نکات}$$

$$\textcircled{1} f(x) = \frac{1}{2}x^2 \Rightarrow a = \frac{1}{2} \Rightarrow \frac{1}{2}x^2 + \frac{1}{2} = \frac{1}{2}x^2 + \frac{1}{2} \Rightarrow a = \frac{1}{2} \Rightarrow \frac{1}{2}x^2 + \frac{1}{2} = \frac{1}{2}x^2 + \frac{1}{2}$$

$$\textcircled{2} f(x) = \frac{1}{2}x^2 \Rightarrow a = \frac{1}{2} \Rightarrow \frac{1}{2}x^2 + \frac{1}{2} = \frac{1}{2}x^2 + \frac{1}{2} \Rightarrow a = \frac{1}{2} \Rightarrow \frac{1}{2}x^2 + \frac{1}{2} = \frac{1}{2}x^2 + \frac{1}{2}$$

$$f(n) \sin^n(n\pi) \rightarrow f'(n) \sin^{n-1}(n\pi) \cos(n\pi) \cdot \pi$$

-V

$$\lim_{n \rightarrow \infty} \frac{f(n) f'(n)}{(1 - \cos n)^m} = \frac{\sin^n(n\pi) \times h \sin^{n-1}(n\pi) \times \cos(n\pi) \times \pi}{(1 - \cos n)^m}$$

$$\frac{\sqrt{2}/\pi}{\lim_{n \rightarrow \infty} \frac{n^{\frac{r}{h}} \times h n^{\frac{r}{h}-1} \times (1 - \frac{n\pi}{2}) \times \pi}{\frac{n^{rm}}{r^m}} = \frac{h n^{\frac{r}{h}-1} \times \pi \times (1 - \frac{n\pi}{2}) \times \pi \sqrt{2}}{n^{rm}}$$

$$\Rightarrow \left\{ \begin{aligned} & \lim_{n \rightarrow \infty} \frac{n^{\frac{r}{h}-1} \times \pi \times (1 - \frac{n\pi}{2})}{n^{rm}} = \frac{r^{m+1} \times h}{1} = r^{\frac{r}{h}+1} \times h \times \pi \sqrt{2} \\ & \Rightarrow h \times r \rightarrow m \times \frac{r}{h} \end{aligned} \right.$$

$$\Rightarrow \lim_{n \rightarrow \infty} \frac{n^{\frac{r}{h}-1} \times \pi \times (1 - \frac{n\pi}{2})}{n^{rm}} = \frac{r^{m+1} \times h}{1} = r^{\frac{r}{h}+1} \times h \times \pi \sqrt{2} \Rightarrow h \times r \rightarrow m \times \frac{r}{h}$$

$$\Rightarrow r m, h, v, \frac{r}{h}, q$$

✓

$$y = \frac{\sqrt{x+1}}{\sqrt{x-1}} \Rightarrow \sqrt{x} \cdot \frac{y+1}{y-1} \Rightarrow x = \left( \frac{y+1}{y-1} \right)^2$$

$$\Rightarrow f^{-1}(x) = \left( \frac{x+1}{x-1} \right)^2 \Rightarrow [f^{-1}]' = \frac{2}{(x-1)^3} \times \left( \frac{x+1}{x-1} \right) \times \left( \frac{-1}{(x-1)^2} \right)$$

$$\Rightarrow \left\{ [f^{-1}]', \frac{2}{(x-1)^3} \times \left( \frac{x+1}{x-1} \right) \times \left( \frac{-1}{(x-1)^2} \right) \right\}$$

$$\frac{f(a) - f(b)}{a - b} = \frac{1(-a+1) - 1}{-1 - 0} = \frac{1(-a+1) - 1}{-1 - 0} = \frac{-a+1-1}{-1} = \frac{-a}{-1} = a$$

$$f(x) = (x^{r+1})^c \left( -\frac{1}{r} x + 1 \right) \Rightarrow f'(x) = r(x^{r+1})^c \times \left( -\frac{1}{r} x + 1 \right) + \left( -\frac{1}{r} \right) (x^{r+1})^c \\ = r(x^{r+1})^c \times \left( -\frac{1}{r} x + 1 \right) + \left( -\frac{1}{r} \right) (x^{r+1})^c \\ = 1(-1) + 1 = 0$$

$$\lim_{z \rightarrow \infty} \frac{f(a) - f(b)}{a - b} \Rightarrow y = \sinh z \cosh z \rightarrow \lim_{z \rightarrow \infty} = \frac{\sinh \frac{\pi}{c} \cosh \frac{\pi}{c} - \sinh \frac{\pi}{c} \cosh \frac{\pi}{c}}{\frac{\pi}{c} - \frac{\pi}{c}}$$

$$\left[ \frac{0 - (-1)}{-\frac{\pi}{c}} \right] \rightarrow \frac{\pi}{c} \quad \text{I}$$

$$y = \sinh z - \cosh z = (\sinh z - \cosh z)(\cosh z + \sinh z) = -\cosh z$$

$$\lim_{z \rightarrow \infty} \frac{-\cosh \frac{\pi}{c} - (-\cosh \pi)}{\frac{\pi}{c} - \frac{\pi}{c}} = \frac{0 - (-1)}{-\frac{\pi}{c}} \rightarrow \frac{-1}{-\frac{\pi}{c}} \rightarrow \frac{c}{\pi} \quad \text{II}$$

$$\text{I, II} \Rightarrow \frac{-\frac{c}{\pi}}{\frac{c}{\pi}} = -1 \quad \checkmark$$